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(vii)

(viii)

(ix)

39 J97-97 H 37 Y97 & | @4t 3o AfHAard & /
J97-97 F: GUSI H [F9157 8- @US &, @, T, ¥, & Tq o/

GUE & — 97 & 1 T 20 TglascTid JHR & J97 & | Ie4% Fo7 1 3% H1 & |

GUS & — J97 &7 21 8 24 37la7 TG-FRIT JHR & T & | I3 F97 2 371 &7
8 | 57 J9] %7 I 40 Jsg] @ 37feres 787 for@r a7 =y |

g T — J97 T&IT 25 & 29 TY-ITIT PR & J97 & | I To7 3 371 &1 8 |
57 Y991 &7 3K 60 Isg] T e &1 forar 7 =ifey |

GUE T - Y97 &I 30 T 33 FH-3509 JHR & Yo7 8 | Iedh J97 5 bl #1 8 |
57 Y991 &7 IX 120 iec] & 37fer 787 forar ST =ifaa |

GUE & — Y97 G&I7 34 T 36 HH-3MIRA/FIa-eRa F97 & 5747 &7 39-397 8 |
Jcdeh G974 371 FT & |

TUE o - Y37 G&IT 37 HIHIET HIVIA-TERT 97 & 58 3t 917 8 - 37 (a) 3z
(2 37%) 337 (b) — YIIT (3 37F) | 3T J97 & FT5 3% & |

$T% 3IaIE, & 3 19 gicanad TGl & 178 Biel To7 Hil=d 3771e TR

Y] & T W U 37 Jo7 1697 T & | §7 FH] & I T glocsyd qieet &
7@ |

Eusg <h

(Tgfereheda o) (20x1=20)
FAfIiad JeTeTl i HICHHATTER SFafedd hifve IR T8 fashed &1 =w=H
Hifrg | 1
I. %™ & i
II. Ui 1 32l W 8Hal
III. STl ohl Tehieh(Ul
IV. foan sufa @ty
Tererew :
(A) L IL IV, III (B) 1L, IV, I, III
C) ILIII IV (D) I IILII, IV
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Arrange the following incidents in chronological order and choose the
correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A LIIL1IV,III (B) II,IV, 1 III
C) ILILILIV (D) L IILIL IV
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2. T T &l qfd & ol 98 fashed 1 == i |
T ant (fies &) & aRd 9 gforgd uften gfe=m < gEt 9
H uged 9 |
(A)  EH g EE % AT
(B) IS I T
(C) W 9 g™l
(D) &N 9 3= 9rgqu

3. UG & Wd TS Uil & GEUeh ¥ et gt faehed &1 wam i |
(A) U 9g 919 9 TG 8%
(B) AR HUSATH! d TTIHTI TR
(C) HI.3R. TE 9 A T8
(D) HEH e 9 TER 9o

4. fafafes & @ frem a1 6 - “ggu vt A1 § g€ weHaw T R, TEE T
qEwr |7 2

(A) IR W
(B)  WgTcHT TIeht
(C) SIgH A
(D) Twrgedl gl

5. A= & s few w1 A firemed (A) 3 ST (R) B | M1 seEl 1 ufeu
3R Tl forehed w1 =34 SHIT |
T (A) ;- Teaer ° gfg Tous! Tgie &8 &t § a9 $eR Ushd °
hHITH &7 |
FRU(R)  : 39 g TR Wi I S 1 T Hleh ARG
RTuT TR T el SR TR |

forerea :

(A)  (A) 3R (R) g1 T B, wAfrT (R), (A) i &t =ame 757 2 |
(B) (A) 3R (R) qHI H&l @ AN (R), (A) ! &l RT3 |

(C) (A =& 7, dfh (R) TeAd 2 |

(D) (A) Teid B, A (R) @81 2 |
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2. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A)  Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

3. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B)  Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

4, Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A)  Martin Luther
(B) Mahatma Gandhi
(C) Johannes Gutenberg
(D) Rashsundari Devi

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with
indigenous species was made enormously successful.

Options:
(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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6. LAY I UM &Y 118 Hifvw 31t 981 faehed &1 =—A Fifvu |

&y I &y 11

(7%7) (7a1)
i HER W a. gags
ii. BNIHS b. M
iii. YTEST AMTA c. HHar
iv. :l'lTl'Iﬁ:[ d. #egEd
forerea :

(A)  i-a, ii-b, iii-c, iv-d

(B) i-b, ii-a, iii-d, iv-c

(C) i, ii-d, iii-b, iv-a

(D) i, ii-d, iii-a, iv-b

7. YA ¥ TS % 3ared A Fafafed =i & ofw (wfasa #) & o erfereham

¥ =[IAH Y ITc] Hal foehed sl =3 ShifT |

(A) U Yo, HENISE, hideh, SASI;M

(B) HeH Yq¥l, HENISZ, SIS, Heficeh

(C) WENISE, WE Q¥ hriceh, S

(D) WENISE, AT, HE YT, hleeh

8. Tl % ¢l & 9 H feu U qenl ol ufeu R TE fasheq 1 ==[ v |
I.  9&UTd <hl GHEHT bl A HdT 3 |
II. ol o= <t ufshan &l reeg o 2 |
1. foafaydmet 4 amess= wenfud =t g |
IV. o1 8 A bl Yrfier! =1 Sgrdr 2 |
forerea :
(A)  Hadd I 119 IITEE 8 |
(B) had IL, III9 IVTS % |
(C) HaadLIINT IVHS 2 |
(D) Haa L II9 IVEE 7 |
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6. Match Column I with Column IT and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal c. Narmada

iv.  Nagarjuna Sagar d. Mahanadi
Options:
(A) i-a,ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C) i-c,ii-d, iii-b, iv-a
(D) -, ii-d, iii-a, iv-b
7. Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest

order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka

8. Read the arguments given in the favour of power sharing and choose the
correct option. 1
I. Reduces the likelihood of bias.
II. Barricades the decision-making process.
III. Accommodates diversities.
IV. Increases the participation of people in power.

Options:

(A) Only I, II and III are correct.
(B)  OnlyII, IIT and IV are correct.
(C)  Only I, III and IV are correct.
(D)  OnlyI, IT and IV are correct.
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9. YR dfaum § afvfa Trer’ frfafea § @ fopg g=h & ofaria o1t g 2
(A) =g g
B) TSF Il
(C) owad g=ht
(D) STeht 5l fawy

10. 1992 ¥ YRd ¥ dfgum aenegd ek Ffafed @ & fora wen o nfgenedt &
o armeqor Sht seEen Y TS 2
(A) @ |l
(B) TSI aw
(C) Taum uitwg
(D) ERd

11. = 3 e g e 2 | A Sl (A) 3R FRW (R) € | T %Al i Afen
IR TE forepeq 1 ==[ Fifve |
STYHYT (A) : MY TAlhad TSI Gall o T Tg1 9t Fehdl & |
FRU(R) - THaitaa gfaffy shead ToH-3191 Fateq-aa1 & gfd semees
g, 3w o uf & |

Tererey .

(A (A T 7, AR (R) Tod 2 |

(B) (A) Td g, ifehd (R) &8l 3 |

(C) (A 3R (R) aHI T&l § 3R (R), (A) 1 98 =& 7 |

(D) (A) 3R (R) <HI T&l &, AfhT (R), (A) 6T Tt == 757 2 |

12. fTr=fafga 2on 9 9 forad feedhy saawen 2 2
(A) H (B) difepEd™
(C) GIH T ufEH (D) %
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9.

10.

11.

12.

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B) State List

(C)  Concurrent List
(D) Residuary Subjects

In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C)  Legislative Council
(D) Panchayat

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Modern democracy cannot function without political
parties.

Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.

Options:

(A)  (A)1is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
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13. Tafafea & @ foeg a3 o afgenett =1 a9 T |9ag) (2018) # fafferca
qay 3fYes o7 ?

(A) Fifésw o

B) i (30 T <)
(C) I

(D) TRREN

14. lhaa i HHEfafgd fosmsarett =i ufeu iR T&@l foshey w1 === HifSu |
I. %9ad wd g gHe
II. S % 998 FHH

III. =3k hi TTRAT
IV. SgHEIH &l IEA
fererew :

(A) had L I19 I § |
(B) had IL IS IVEE 2 |
(C) e LIIa IVES § |
(D) wad LI VTS 7 |

15. 0 & ey # AEfafed ofifeafa =t 9fgu 3 ko1 & ghricHss gwE i
TEA HIT |

TelTH 3T o ToTT hrieie Sf <Rl F&Ld i 3R0T o gRI IU T & | 3’01 34
3G h hERIA Gl qT IcATGH ol THI T YU A H HGG hidl 3 |

e .

(A) HcilH 9 R0 1 HR ¢ S |
(B) G| <hl HATS §¢ ST |

(C)  3cdred |l I |

(D) EclW 01 % 55k H B T B |
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13.

14.

15.

In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1

(A)  Nordic countries

(B) America (North and South)
(C)  Europe

(D) Asia

Read the following characteristics of democracy and choose the correct
option. 1

L. Free and fair elections

I1. Equality before law

III. Dignity of a person

IV. Majority rule

Options:

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only I, IT and IV are correct.

Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.

32/4/1-14 Page 11 of 27 P.T.O.




flga fag =1 steaea fifvw | g § 39 9o+ rdegeEer %
faftaa & 9 form &3 & A7 a1 8 2 1

(D) =g

Fig: [HAFCTRId 397 #ac gleeariaa qagmfdea & o7 397 qea 16 & &7 |
&/

frafafea 9 & frE & 6 THEH 9Rd & doha e 3ag (SELd.) #

Taiferes B ? 1
(A)  wTafs

B) g

(C) qdreh

(D) <qIH
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
(C)
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary

Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
()

(D)
32/4/1-14

Primary
Secondary
Tertiary

Quaternary
Page 13 of 27
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17.

18.

19.

20.

T @ ed fer MU E | A SAHAA (A) 3 HRU (R) & | QAT AT I UlgT

3R T faerew &1 == KIS |

37T (A) : ARG H his Wl Ak HAA AR W T H GRAN i DR
T&l T HohdT B |

PRU(R)  : WA H 93 I T TLHR ITIhd et 8 |

ey ;

(A)  (A) 3R (R) gH1 &l & 3 (R), (A) T TE =T 7 |

(B) (A) 3IR (R) gFI @dl §, Tk (R), (A) ! Tl =T 757 % |
(C) (A) @& g, dfhd (R) Toid ® |

(D) (A) TeAd 8, Afeh (R) T& 2 |

ffafga @ @ SH-91 ST STHEr & TR 61 T&t 9uH Hdl 8 ?
(A) YR W R Teef} a0t i g

(B) 3= Sitad & ohl Y& HT

(C) e & o= dig nfa I Tehientur &

(D) focsht Sufi =t a1 & fou fomw veq e

G® g foh™ SR (FT.SH.) HHfdigd ¥ & TR MgR | AHa
o T{are’ wehIfSTa htat & 2

A)  Tafgior, TaaEer R ey

(B) firam, Tawen 3k ufd =i 3

(C) TS 3T, Ty 3T sfehT

(D) ¥ =] 3G, SENfiEhl TR Ta=R

=9 @ wom fiw mu | 3 wAfieRem (A) TR wRw (R) § | gFT Sl @I dfew
3R TE faehed 1 =3q HIRT |

BT (A) : qoh BB hoich] ol o o fIC IIT T 8 B |

FRU(R)  : FS A o I RIMYR &l 2al 2 |

ey ;

(A)  (A) 3R (R) gHT T&l & 3 (R), (A) T TE =T 7 |

(B) (A) 3R (R) gHI W&l §, Tk (R), (A) ! T =T 737 2 |
(C) (A) @& g, et (R) Toid ® |

(D) (A) Tod 7, AfhT (R) T&1 2 |
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17. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment
made in rupees.

Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

18. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

19. On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A)  Manufacturing, Infrastructure and Health

(B) Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) . Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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21.

22.

23.

24.

25.

26.
27.

28.

29.

Qus @
(3tfer og-3wE 9e) (4x2=8)
“Sedt w9 9 § T TR @ 1 & s o1 |7 39 A @ v
Eﬁli\aq | 2
T o 3T Toeh™ o ToTT SHofl fohdl TR Teh SMYTRYT STTTThal & ? 3Gl
gfga Tose HifsT | 2
(a) WA ! HECHS wawel H Higge i gt w1 whew @ faget b
i | 2x1=2
AT
(b)  WRd ! HETcH e § Haied AT ! YfHet 1 we q faga
T Fifsre | 2x1=2
Trenfiehl fohl SRR I9eiehttl 1 Tsh HEwdqUl %eh 7 ? el digd TI
éli\aQ | 2
@UE T
(erg-SviiT we) (5x3=15)

(a) U g | fafie dgemi, &t a1 wioiell @ Heg T -ITerT aigl
q HHEh YA 1 WIE hd foh{a foham ? 3gTeton |fgd €U hiviw | 3

YT

(b)  “mgred e % fommi oK ToUS I FFUR % SR H FAGU hl T

g off |” Iergn "fgd 38 YA hl ¥R hifvu | 3
R § "I SIS i Y i fopegl o fomrwaredt s qui shifse | 3x1=3
SHwa-fmtor § TeHifae gel ht fient o1 faveryor i | 3
“Oefir YT SIEAT UehIcHeh YT SIIEAT T 3l 3¢ 8 |7 59 AT hl I
éli\ﬁQl 3
¥ & faem & fawy § fafsw o h arond 3= = 8 gedl 8@ 2 3|
Higd saTEea hIy | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)

“Until the nineteenth century, poverty and hunger were common in
Europe.” Analyse the statement. 2

How is energy a basic requirement for economic development of a
country ? Explain with examples. 2

(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2

OR
(b) Examine the role of the Supreme Court in the Federal System of

India in two points. 2x1=2

How is technology an important factor of globalisation ? Explain with
examples. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the

National Movement ? Explain with examples. 3
OR
(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3
Describe any three features of cultivation of millets in India. 3x1=3
Analyse the role of political parties in shaping public opinion. 3

“Federal form of government is in direct contrast to the Unitary form of
government.” Explain the statement. 3

Why could different persons have different notions of a country’s
development ? Explain with examples. 3

32/4/1-14 Page 17 of 27 P.T.O.




30.

31.

32.

33.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

32/4/1-14

(S -swiia wea)

Qg Y

(4x5=20)

“preftet hIfd A SHIETER AT H U ATfesh dga i Wi Ut i |7

3UYh Rl AlEd 38 e i ATEAT hHINT |

AT

“qa o TadEa I 4 R® AT e SISTa o WU WieHnsi

1 TR fohaT |” IUYH ol Afed 56 HYH i AT T |

<1 <k ATiees foehra o fafemtor e it et &1 auH ST |

AT

ATk JGUU § =) S ! g9 o AT I3 T foheal qi= HgHi i

U hifSTT |

grfores fafagar & gmee & fou dieds & g w1 fiwwm At | 5

HAYAT

Tt 3T STEHMAT Bl HH HH T Alhdd o Hgw ol T390 iU | 5

“ramifed &5 U Afehl I &0 3R FERdT hl AEawIhdl 2 |

3CEUN Higd 39 o4 hl 9@ i |

AT

“fsht azrep <Y Tifafafert =1 e oy i e gl @ |7 Sergn |fgd

Y hYF h! W <hIT |
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/1-14

SECTION D

(Long Answer Type Questions) (4x5=20)

“The French Revolution created a sense of collective identity
amongst the French people.” Explain the statement with suitable

arguments.
OR

“The Greek war of independence mobilised nationalist feelings
among the educated elite across Europe.” Explain the statement

with suitable arguments.

Describe the role of manufacturing industries in the economic

development of a country.

OR
Describe any five steps taken to save fresh water from industrial
pollution.
Analyse the importance of democracy in accommodation of social
diversity.

OR
Analyse the importance of democracy in reducing poverty and

inequality.

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples.
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples.
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34.

35.

Qe &

(RE-ATHTRA /EA-STTTRA T9) (3x4=12)

feu 7w &t @1 ufey 3T 37eh A= QU 7T JeAT o IR ST

1857 % fagig & =1g I sl Ta=dl & Ufd W1 o T | g S A
THY I9 W1 4g 9 B hI AT HI | SAI-SAT WINT3 THER-IF TG § THH
¥ ger g T, -l Sfufafe e ¥ we v % yeae W agg dd
B T | BRI YH HMT b d9 W 1878 H FHIIER Y& Ude AN L &
T | 399 AR I AR 38 H SH e 3R AYIGehT i HEL i 1 ATIh
T Ud T | o1 ¥ TR 4 iy ween @ 8 arel vmwTs omeert W fafia
TR W@t I[E A & | TR Torefl e &l arft SR foan Smar o @ TEeR
GEel el & STl oft, R IR <Adrat hl SEHT g% Al SR 1 Fed feha
ST EehdT o1 37X BUTS hi A B < S Fehell off |
(34.1) ‘TR Y6 U’ Tohd T W STmeicg o 2
(34.2) 1857 % fagig & w1g Y& s Tadaar o Ufd S 1 WA FA ded

TN ? TS HINY |

(34.3) ‘TATFIER Y8 U’ AT 8H o Tehral Q1 YAl chl SATEAT hHIToIT | 2x1=2

fau T =ra I dfeu 3R 35 = g 7T gt & I G

FaTEl FT T - qEed fhet Wt TR o foR™ § el e HETd
2 | W T 1 foeerda 3uhT SR Af-3U=NT & SHHUT S AT -1
3R il gaemd O g1 gehdl 3 | 9 gHEsT 9 §e=d % fore fafie e
T EHTGA] T T AGRTH 2 | AT H &l HIYHA] 1 W&V §gd H A
3R Todent & oI foran =1 fowa @1 7 | Seretond, TS 3 d9reEr % @E
T 3T TodT 39 gl H Sk hl g — “FHR U & AN hl ATawIRdl I
T 95d 39 7, M|%4W%Wﬁ&gw¢é€mgdsl | 3TTq BAR 919 U
W o [T 98d @, ifehd 98 9 o g 781 17 36 IfgER fava T W
T B8 o ToIC ATer! 3Tk Tareff =afd qor smygfes Srenfiehl i Syureeh

Tgfa R 8 | 9 (e 3cared o faeg 9 R 38 &&H W fUs a9
SEYEH RI 3cUTed o Jaek 9 |

(35.1) ‘GEtya FRieH w1 gftrnfya s | 1
(35.2) GHTEAT o GLEIU <hl STTAIIhHAT ohl TIL hifoT | 1
(35.3) TS < It et b — %ﬂﬁqlaﬁwlmﬁwiﬁ
$S 8, b Thdl o TTCTd hl FqMee o faQ &l ? fohegl Eh‘lTUﬁ
forgemor fifse | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based ? 1

(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(35.1) Define the term ‘Resource Planning’. 1
(35.2) Explain the need for conservation of resources. 1

(35.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed ?” Analyse any two reasons. 2x1=2
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NN\

36.

37.

feu v wra w1 ufew o 3Ees = fau U gl % IR G
g giufaat 9 =

Sopl o ITATET TTHIU & § TEd KT H Ush 31 @Id dghi giufat 3 |

FEhIl AU o FGEA 394 THTEHT l S &A1 § HgaT o [T Tha i & |
% TR <l Heehl wiufaal gwa €, S8 — forami, Rt T SHrenfies woigl

SCATTG oh! HEhII AT | FHYh ghR AHIA YL o A9Gh Teh Md H A

HLA 2 | 3Hh 2300 fhEM e 2 | IE AU TS H SHT YT hIdl

g | 38 S IS 1 ROMYR A §U, 39 TERN AHEfd 3 S 9 981 R0 9T
R 2 | 38 IS 1 SWIUTA WS i el of % 7w foRaT ST 7 | Ag ®W

AICH o WG ol 1 QU QR & TRl ST Fhall @ |

Yk FEHN GHMd Y IR Glied, @l qA1 HY AR A, TS

TS, B S IR 3 fafYe TR & =l o foT¢ T ool Sl & |
(36.1) “TEeptdt wiufa’” wor’ & g Hia 1 ITE B 2

(36.2) TTHIUT fosh@ T TEwRl ATl o ANTEH hi SRS il |
(36.3) TII-TEEAT AHGI <h! Yoil oh fohral QI GGl I I hHIT |

LCLER]
(AT RIvTE-eTiE I9H)

2x1=2

(2+3=5)

(a) WA oh U T oI WI-AHEET (I8 27 W), § & $AME hl ‘A’ 3R

‘B & &9 H Afrd foram mn 2 | fafafga Smepi < ggmar 9 3=

GEEITT R 3ok T& TH 39 gHIT Wi 78 W@ret W i

A. 98 TIE & TSt 9 i H @dl v 9 fREE & fow

gamrg foRam o |

B. 98 TUM gl MY 7 THh hid qIeT o7 |

(b) WRA & sH UoHIfdes AW |, efdafed @ @ fedl @7 &t

39k ol © guifse 3R 3e am fafau
(i) el —dd &

(i) =R — Y@ HIIAl GH

(iii) ORI — GEHTY] oIl G

(iv) TR — T@ d9g qod
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AN
36. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1
(36.2) Explain the contribution of Cooperative Societies in rural
development. 1
(36.3) Mention any two sources of capital for Self-Help Groups. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :
A. The place where Gandhiji started Satyagraha for indigo
peasants. 1
B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(iii) Narora — Atomic Power Plant
(iv)  Tuticorin — Major Sea Port
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NN\

Fie: [HEIRaT Jo7 Fac7 giteariaa qhgniaar & c7g J97 &7 37 & T T/
g1

fobgT aier 391 & 3¢ a7 | 5x1=5
(37.1) 39 TIMH k1 I fafgu &t miefisht 3 e hl @dl == 9 e &
Tou ‘geamrg’ foram o |

(37.2) 3T TIM 1 AW fARGE ST et 4 F0e T qreT o7 |

(37.3) IEThIeAT a1 & forg T=u © foq 2 2

(37.4) 39 TSY 1 9 TARGT S5l Ger=’ THE@ ¥ ! @H €Ia 8 |
(37.5) 39 USA =1 W fafgn S5t Tt Ty ot @ foa 2 |

(37.6) qARITE TG a0 Tl U5 1 fed@ 8 2
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A
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.
Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination March - 2024
SUBJECT NAME: SOCIAL SCIENCE SUBJECT CODE 087 PAPER CODE-32/4/1

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them. In class-X, while evaluating two competency-
based questions, please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.

Evaluators will not put right (V') while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11.

A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13.

Ensure that you do not make the following common types of errors committed by the Examiner in the
past:- Giving more marks for an answer than assigned to it.




Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14. | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0)Marks.

15. | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16. | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17. | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18. | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.




Marking Scheme
Class X -Social Science (087)

SET-32/4/1
SET -1 MM-80
Q. Values Points Page Marks
No. No.
Section A (20X1=
Multiple Choice Question 20)
1 A LIL IV, I 8H 1
2 (B) Clothes and spices 54 H 1
3 (O) C. R. Das and Motilal Nehru 38H 1
4 (A) Martin Luther 112H |1
5 (B) Both (A) and (R) are true and (R) is the correct explanation of (A) 16 G 1
6 (D) i-c, ii-d, iii-a, iv-b 24 G 1
7 (B) Madhya Pradesh, Maharashtra, Odisha, Karnataka 53G 1
8 (C) Only L, IIT and IV are correct 8-9P 1
9 (C) Concurrent List 16-17P | 1
10 (D) Panchayat 24 P 1
11 (C) Both (A) and (R) are true and (R) is the correct explanation of (A) 48-49P | 1
12 (C) United States of America 51P 1
13 (A) Nordic countries 34P 1
14 (A) Only I, II and III are correct 64 P 1
15 (B) Salim’s income will increase 42-44 1
E

16 (C) Tertiary 20E 1

For Visually Impaired Candidates Question

(C) Tertiary 20E 1
17 (C) (A) is true but (R) is false 40 E 1
18 (C) Process of rapid integration between countries 62 E 1
19 (B) Education, Health and Per Capita Income 13 E 1
20 (A) Both (A) and (R) are true and (R) is the correct explanation of (A) 42 E 1




Section B 4x2=
Very Short Answer Type Questions 8)
21 “Until the nineteenth century, poverty and hunger were common in Europe”. | 56 H 2X1=2
Analyse the statement.
(1)  Cities were crowded due to overpopulation.
(i1))  Shortage of food grains.
(iii))  Deadly diseases were widespread.
(iv)  Religious issues were common.
(v)  Any other relevant point.
(Any two points to be analysed.)
22 How is energy a basic requirement for economic development of a country? | 58 G 2X1=2
Explain with examples.
(1)  Every sector of the national economy- agriculture, industry, transport,
commercial and domestic needs inputs of energy.
(i) The economic development plans implemented since independence
necessarily required increasing amount of energy to remain operational.
(i11))  Energy is used for manufacturing of products.
(iv)  Any other relevant point.
(Any two points to be explained.)
23 (a) Examine the role of the Constitution in the Federal System of India in 15P 2X1=2
two points.
(1)  The jurisdictions of the respective tiers of government are specified in the
Constitution.
(i1))  The existence and authority of each tier of government is constitutionally
guaranteed.
(iii))  Constitution provides the rules for coordination between Centre and
States.
(iv)  Any other relevant point.
(Any two points to be examined.)
OR
(b) Examine the role of the Supreme Court in the Federal System of India in
two points. 17 P 2X1=2

(i)  The judiciary plays an important role in overseeing the implementation of
constitutional provisions and procedures.

(1))  In case of any dispute about the division of powers, the high court and the
Supreme Court make a decision.




(i) It acts as the interpreter of the Constitution.
(iv)  Any other relevant point.
(Any two points to be examined.)

24 How is technology an important factor of globalisation? Explain with 62 E 2X1=2
examples.
(i)  Telecommunication facilities
(1))  Transport system
(iii))  Information technology
(iv)  Examples: Computers, Telephone, Internet, voicemail, email etc.
(v)  Any other relevant points.
(Any two points to be explained.)
Section C (5X3=
Short Answer Type Questions 15)
25 (a) How did people belonging to different communities, regions or language | 46-47 3X1=3
groups develop a sense of collective belonging in the National Movement? | H
Explain with examples.
(i) Language that promoted nationalism.
(i1))  Use of allegories (images).
(iii))  Creation of hymns in the praise of nation.
(iv)  Preparation of national flag.
(v)  Exploration and preservation of common folklore.
(vi)  Reinterpretation of history.
(vil)  Connecting the idea of nation with motherland and fatherland.
viii)  Emphasising the notion of united community.
(ix)  Glorification of nation.
(x)  Any other relevant point.
(Any three points to be explained.)
Note: Nationalist movement of any country may be considered for
explanation. Example- Indian folklore, Anandmath etc....
OR
(b) “Workers had their own understanding of Mahatma Gandhi and the
notion of ‘Swaraj’.” Explain the statement with examples.
(1)  For plantation workers in Assam freedom meant the right to move freely | 36 H 3X1=3

in and out of the confined space in which they were enclosed.
(1) It meant retaining a link with the village from which they had come.




(iii)

When they heard of the Non-Cooperation Movement, thousands of
workers defied the authorities.

(iv)  They believed that Gandhi Raj was coming and everyone would be given
land in their own village.
(v)  Workers defied ‘Inland Immigration Act’.
(vi)  Any other relevant point.
(Any three points to be explained.)
26 Describe any three features of cultivation of millets in India. 38 G 3X1=3
(1)  Jowar, Bajra, Ragi are few important millets grown in India.
(1)  Itis arain-fed crop mostly grown in the moist areas, which hardly need
irrigation.
(i)  Major jowar producing states are Maharashtra, Karnataka, Andhra
Pradesh and Madhya Pradesh.
(iv)  Bajra grows well on sandy soils and shallow black soil. Major bajra
producing states are Rajasthan, Uttar Pradesh, Maharashtra and Gujarat,
(v)  Ragiis acrop of dry seasons and grows well on red, black, sandy loamy
soils.
(vi)  Any other relevant point.
(Any three points to be described.)
27 Analyse the role of political parties in shaping public opinion. 49 P 3X1=3
(i)  Political parties raise and highlight issues.
(i1))  Parties have lakhs of members and activists spread all over the country.
(iii)  Many of the pressure groups are the extensions of political parties among
different sections of society.
(iv)  Parties sometimes also launch movements for the resolution of problems
faced by people.
(v)  Opinions in the society crystallise on the lines parties take.
(vi)  Any other relevant point.
(Any three points to be analysed.)
28 “Federal form of government is in direct contrast to the Unitary form of 14-16 P | 3X1=3

Government”. Explain the statement.

(1)
(i1)
(iii)

(iv)

Under the unitary system, either there is only one level of government or
the sub-units are subordinate to the central government.

The central government can pass on orders to the provincial or the local
government.

But in a federal system, the central government cannot order the state
government to do something.

State government has powers of its own for which it is not answerable to
the central government.




(v)  Both these governments are separately answerable to the people.
(vi)  Any other relevant point.
(Any three points to be explained.)

29 Why could different persons have different notions of a country’s |4-5E 3X1=3
development? Explain with examples.
(i) Different people may have different perspectives of development which
might be in contrast to each other.
(i1)  Each one seeks different things. They seek things that are most important
for them.
(i11))  To get more electricity industrialists may want more dams.
(iv)  This may submerge the land and disrupt the lives of people who are
displaced, such as tribes.
(v)  They might reason this and may prefer small check dams or tanks to irrigate
their land.
(vi)  Any other relevant point.
(Any three examples to be explained.)
Section D 4Xs=
Long Answer Type Questions 20)
30 (a) “The French Revolution created a sense of collective identity among the 5-6 H 5X1=5

French people.” Explain the statement with suitable arguments.

(i)  France was a full-fledged territorial state in 1789 under the rule of an
absolute monarch.

(1)  The political and constitutional changes came in the wake of the French
Revolution.

(i) It led to the transfer of sovereignty from the monarchy to a body of french
citizens.

(iv)  The revolution proclaimed that it was the people who would henceforth
constitute the nation and shape its destiny.

(v)  The French introduced various measures and practises which emphasized
the notion of united community, enjoying equal rights under the
constitution.

(vi)  Theidea of /a patrie (the Fatherland) and /e citoyen (the citizen) emphasised
the notion of a united community enjoying equal rights under a constitution.

(vil)  New hymns were composed, oaths taken and martyrs commemorated.
viil)  French became the common language of the nation.
(ix)  Any other relevant point.

(Any five points to be explained.)

OR




(b) “The Greek war of independence mobilised nationalist feelings among 13 H 5X1=5

the educated elite across Europe.” Explain the statement with suitable

arguments.

(i)  Greece had been part of the Ottoman Empire since the fifteenth century.

(1))  The growth of revolutionary nationalism in Europe sparked off a struggle
for independence amongst the Greeks, which begin in 1821.

(ii1))  Nationalists in Greece got support from other Greeks living in exile and
also from many West Europeans who had sympathies for ancient Greek
culture.

(iv)  Poets and artists lauded Greece as the cradle of European civilization.

(v)  Public opinion was mobilised to support its struggle against a Muslim
empire.

(vi)  The English poet Lord Byron organised funds and later went to fight in the
war.

(vil)  Any other relevant point.

(Any five points to be explained.)
31 (a) Describe the role of manufacturing industries in the economic 66 G 5X1=5
development of a country.
(1)  Over the last two decades, GDP of the country has been improved due to
the manufacturing sector.

(1))  Helped in the modernization of agriculture.

(iii))  Helped in the reduction of unemployment and poverty.

(iv)  Helped in bridging down the regional disparity.

(v)  Helped in the expansion of trade and commerce.

(vi)  Helped in raising foreign exchange.

(vil)  Any other relevant point.

(Any five points to be described.)
OR

(b) Describe any five steps taken to save fresh water from industrial

pollution.

78 G 5X1=5

(i)  Minimising the use of water for processing by reusing and recycling it in
two or more successive stages.
(i1)  Harvesting of rainwater to meet water requirements.
(i11))  Treating hot water and effluents before releasing them in rivers and ponds.
Treatment of industrial effluents can be done in three phases-
(iv)  Primary treatment by mechanical means. This involves screening,
grinding, flocculation and sedimentation.




(v)
(vi)
(vii)
viii)

(ix)

Secondary treatment by biological process.

Tertiary treatment by biological, chemical and physical processes.
This involves recycling of wastewater.

Providing green belts for nurturing ecological balances.

Any other relevant point.

(Any five points to be described.)

32

(a) Analyse the importance of democracy in accommodation of social

diversity.

(1) It will be a fair expectation that democracy should produce a harmonious
social life.

(i1)  Belgium has successfully negotiated differences among ethnic
populations.

(i11))  Democracies usually develop a procedure to conduct their competition.
This reduces the possibility of these tensions becoming explosive or
violent.

(iv)  No society can completely and permanently resolve conflicts between
different groups, but we can learn to respect these differences and develop
ways of negotiating harmony between them.

(v)  Democracy is best suited to produce a more harmonious outcome.

(vi)  Ability to handle social differences, divisions and conflicts is thus a
definite advantage of democratic regimes.

(vil)  Majority works with minority.

viii))  Democracy develops procedures to conduct competition which ensures
equality.

(ix)  Any other relevant point.

(b) Analyse the importance of democracy in reducing poverty and inequality.

(1)
(i1)
(iii)
(iv)
(v)

(vi)
(vii)

(Any five points to be analyzed.)

OR

Promotes political equality by supporting universal adult franchise
Enhances the dignity of individuals by recognizing them as citizens and
not subjects.

Improves the quality of decision making through debate and discussion.
Allows room to correct mistakes.

Many steps have been taken to reduce disparity through various Central
and State government schemes.

Reservation has also helped to uplift the marginalized sections.

Any other relevant point.

(Any five points to be analyzed.)
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33 (a) “There is a need for protection and support of the workers in the 32E 5X1=5
unorganised sector.” Examine the statement with examples.
(i)  There are rules and regulations but unorganized sectors hardly follows
these.
(i1))  Jobs are low paid.
(i11))  Jobs are not regular.
(iv)  There is no provision for overtime.
(v)  There is no provision for paid leaves and leave due to sickness.
(vi)  Employment is not secure.
(vii)  Ensuring the protection of workers in this sector is a matter of economic
and social justification and for inclusive development.
viil)  Any other relevant point.
(Any five points to be examined.)
OR
(b) “Activities in private sector are guided by motive to earn profits”.
Examine the statement with examples. 33-34 5X1=5
E
(i)  Ownership of assets and delivery of services are in the hands of private
individuals.
(i1)  They charge money for the services.
(iii))  The facilities are based on earning and for profit making.
(iv)  Activities are based on market approach and analysis.
(v)  Even for primary facilities like health, education etc they charge heavy
amount.
(vi)  They seek competitive advantage.
(vil)  There are several things needed by the society as whole, which the private
sector will not provide at a reasonable cost.
viil)  Any other relevant point.
(Any five points to be examined.)
Section E 3X4=
(Case-Based/ Source Based Questions) 12
34 Read the given source carefully and answer the questions that follow: 1+1+2=
4
After the revolt of 1857, the attitude to freedom of the press changed. Enraged | 127 H

Englishmen demanded a clamp down on the ‘native’ press. As vernacular
newspapers became assertively nationalists, the colonial government began
debating measures to stringent control. In 1878, the Vernacular Press Act was
passed, modelled on the Irish Press Laws. It provided the government with
extensive rights to censor reports and editorials in the vernacular press. From




now on, the government kept regular track of the vernacular newspapers
published in different provinces. When a report was judged as seditious, the
newspaper was warned, and if the warning was ignored, the press was liable
to be seized and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based? 0}
- Irish Press Law

(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 18572 Explain. 1)
- Because vernacular newspapers became assertively nationalists.

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.’
(2X1=2)

(1) It provided the government with extensive rights to censor reports.
(i1))  The government kept regular track of the vernacular newspapers
published in different provinces.
(i11))  Any other relevant point.
(Any two points to be explained.)

35

Read the given source carefully and answer the questions that follow:

Conservation of Resources

Resources are vital for any developmental activity. But irrational consumption
and over-utilization of resources may lead to socio-economic and
environmental problems. To overcome these problems, resource
conservations at various levels is important. This had been the main concern
of the leaders and thinkers in the past. For example Gandhiji was very apt in
voicing his concern about resource conservation in these words: “There is
enough for everybody’s need, and not for anybody’s greed.” He plays the
greedy and selfish individuals and exploitative nature of modern technology
as the root cause for the resource depletion at the global level. He was against
mass production and wanted to replace it with the production by the masses.

(35.1) Define the term ‘Resource Planning’. 1)
- Resource planning is a complex process which involves identification
and inventory of resources across the regions of the country.

(35.2) Explain the need for conservation of resources. €))
- Irrational consumption and over utilisation of resources may lead to socio
economic and environmental problems.

3G
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(35.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed?” Analyse any two reasons (2X1=2)

(1)  He placed the greedy and selfish individuals and exploitative nature of
modern technology as the root cause for resource depletion.
(i)  He was against mass production and wanted to replace it with the
production by the masses.
(iii))  Any other relevant point.

(Any two points to be mentioned.)

36

Read the given source carefully and answer the questions that follow:

Loan from Cooperatives

Besides banks, the other major source of cheap credit in rural areas are the
cooperative societies or cooperatives Members of a cooperative pool, their
resources for cooperation in certain areas There are several types of
cooperatives possible, such as farmers cooperatives, weavers cooperatives and
industrial workers cooperatives, etc. Krishna Cooperatives functions in a
village not very far away from Sonpur. It has 2300 farmers as members. It
accepts deposits from its members. With these deposits as collateral, the
cooperative has obtained a large loan from the bank. These funds are used to
provide loans to members. Once these loans are repaid, another round of
lending can take place. Krishna cooperative provides loans for the purchase
of agriculture implements, loans for cultivation and agricultural trade, fishery
loans, loans for construction of houses and for a variety of other expenses.

(36.1) ‘Cooperative society’ is an example of which source of credit? (1)
- Formal source of credit.

(36.2) Explain the contribution of Cooperative Societies in rural

development. 1)
- Meets the requirements of rural people like purchase of agriculture
implements, loans for cultivation and agricultural trade, etc.

(36.3) Mention any two sources of capital for Self-Help Groups. (2X1=2)

(i)  Contribution of members
(i1))  Loans from banks,
(i11))  Interest on loans given by Self Help Groups
(iv)  Any other relevant point.
(Any two points to be mentioned.)

47E
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Section F
Map Based Questions

(2+3=
)

37

(a) Two places ‘A’ and ‘B’ have been marked on the given political outline
map of India. Identify them with the help of the following information and
write their correct names on the lines drawn near them:

A. The place where Gandhiji started Satyagraha for indigo peasants. (1)
B. The place where Gandhiji broke the Salt Law. (1)

(Please see the attached map.)

(b) On the same political outline map of India, locate and label any three of
the following with suitable symbols: (3X1=3)

(1)  Nabharkatia- oil field

(i1)  Talchar- Major Coal Mines
(i11))  Narora- Atomic Power Plant
(iv)  Tuticorin- Major Sea Port

(Please see the attached map.)

Questions For Visually Impaired Candidates only in lieu of Q. No. 37
(Attempt any Five)

(37.1) Name the place where Gandhiji started Satyagrah for indigo peasants.
- Champaran

(37.2) Name the place where Gandhiji broke the Salt law.
- Dandi

(37.3) In which state is Naharkatia oilfield located?
- Assam

(37.4) Name the state where Talcher major coal mines are located.
- Odisha

(37.5) Name the state where Narora Nuclear Power Plant is located.
— Uttar Pradesh

(37.6) In which state is Tuticorin sea port located?
— Tamil Nadu

5x1=5
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